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3
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8
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+0,00
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26
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x2
6
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0

78 14
0

78 14
0

78 14
0

78 14
0

78 14
0
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12

43456
4

20
0

12
28

8

308
12

133
12

133
15

265

14
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A

A

Nr p. Nazwa pom.
rodzaj
posadzki

pow.
podłogi

2.1
2.2
2.3

pom. gosp. terakota

terakota
1,9m2
2,1m2

2.4
2.5 18,5m2

Bilans powierzchni

109,9m2=

WC

terakota
terakota

terakota

pom. soc. 7,4m2

2.1

2.2
2.4

2.5

2.6

2.72.8

2.6

2.8 25,2m2terakota

terakotapom. gosp. 21,7m2

WC

pom. gosp.

8,8m2

2.3

komunikacja

2.7 terakotapom. gosp. 24,3m2

ściany istniejące

ściany istniejące do 
wyburzenia

ściany 
nowoprojektowane

137 73 90 126
12

126 90 218
12

12

88

218 90 46

90 20
0

90 20
0

18
6

90

90 20
0

90 20
0

21
90 55 90 24

90 20
0

ściana 
przesuwna
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